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5(Irr)1'70cm + 10cm = 5m80cm (étlrlri |Ocm — Im = 3m | Ocm
5(22)cm + 8m3b5cm = 8m&8/cm E7|?’v)cm + |Om6cm = 10mY99cm
I(g()))mltécm —Y9cm = 10m37cm 238 lcm + | 8cm = 4mY99cm
Xr?ﬂ lcm + Tm = | Im7lcm gfriSOcm — 70cm = 8ml0Ocm
Eé?r)lchm — 6m = 2m90cm (Ilg)m84cm — 18cm= |2m66cm
C;(;r>140cm — 10cm = 9m30cm (Ilg)m |Ocm + 34cm= |0m44cm
3(Zr>1 + 3m4cm = 6m4cm (5Ir7n)6cm + 3m = 8mbcm
lﬁr)li%cm — Im = 3m36cm (ltlfn) + 8m64cm = |2m6é4cm
I(q2)m40cm — 10cm = 12m30cm (Ilg))cm + 3m40cm = 3m50cm
(Il(g)m22cm +6m = |6bm22cm (Izg)méﬁcm —8m = 5m47cm
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